
Q  /Using finite difference method to solve the beam shown in fig.  By choosing the right answer and write the solution under each answer,   h=1m.   [image: image1.jpg]0,4
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1.  The reaction at point A will be.

a. 30 kN           b.40.66 kN        c.36.66 kN

2. If h=1m then No. of node will be.

a.6                   b.7                      c.5
3. The external moment 50 kN.m2 will be act at node y?
a. y3                b. y4                    c. y5
4. The moment at y1 is
a. 40                b.35                  c.34.66
Good Luck





















